
Total No. of Questions - 3] [Total Pages : 4
(2022)

9256
M.A. Examination

HINDI
(37T^f> TRI Tfe) 

Paper-VII 
(Semester-11)

Time : Three Hours] [Max. Marks:
Regular: 80
Private: 100

VTtenstff TOt TrRf Tpft (40 KK7

Kt TftfaK Wt HKf f^T ^Tqii

TTtcT : Tftft TO t’l

1. fWUd 3 3 TO TWTf Kft TOPT oTOTT Kftf^ :

(KT) tM Kltf i TO Kt $ 3TOT W HKf W 
•TORI TR TO KTT TOT Kt tl 3TIW! KT

Sild*! K^ eKII ■3JRTKKTK ■6<*1I KtHT? cibl 1? ^it 
Wt $, TOTO^t T^f t, 3 fl KT, 3 I 

3^ t^I
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(W w
ft 3R Epft fi ft, ^ft «nft ft,

ftft Eft fftrl*< EFR ft ^T«T ERFTf Wftjl”

(ft) 3TR ftl ^ft W Eg$ W ft ^ft 3THtl 

sA^ii ft Rft ft 3rft irftt fti ItTH ft fft 
■jR 1R ftft W-'HRI Rftft 1ft sgft cWT 3TRR 1RTI 
Eft?ft, 3TR ft ft, ft H^T ftREfft W 

WR t?

(1) "ftH 3R^t ifteftl R^Tt 3 3 TTEF TfEt
W7 Efft eft fq^rftl fartft 4fa eft H iftftl 3T^t 

■^ft t. ’ft ^fa> <

R ft tffal”

(^) RJR ^ftft ^RF3f ft 5lft?T ^T t, 3^ft ftft 

eft 3PT ^ft Eft f^RT R 3J3W R
ajcjdfHd ft EH?n t sft wft ■Rftfwift ft- RTTK W 

4ldd Eft fa*di< ■ft fftiT 3jfM^> ftsf ft ^nni fti

(xf) ^T, 3R%J, 73^ STTfc ^FTlft ft $R, 3Rft,

ftftr Tift snft •mift ftftt wft fti ^smft ft 

7?ft Rft ftft-EFft fftrmft ft Eft -gt! fti ft 7R tftftt 
^nfer ft ftnfen i ft ftfr RF *w 

Eft TR ft 3HEft w 3FTft ^EIKR ftt ftt< ^RT H fttl

C?5) left ft (d(M4 3i|-c|<u| ft Tf^ft 3R7I <?ftJlll ■ftft 

■^rt fftrrft ftWfEi Eft tri ft nft t, ft*R eft: 
■jjftnri
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(W mHfel 3TWq UH: k U^k 3R Ucrf&T
6)<1I 't', 3jk i^h ddd ch'$ k HHT ddd U>t

W t kFRJ WTHKt WI U^k UTt kcH TTtTF k 
Sj^Mlkld km UT 3TFRT 31fWH k UfWT 

ikl fl 4x8=32

(4x9=36)

2. fdHfWd k $ fWT HIT U^f 3xR kkR :

(W W «7T’ Wit WT-kRU U>tf^l

(TU)Rft ^Fft W =Ft Ufen ^KFff

eRT fd^d

(U) ‘U=F ^rq^k ^Ft’ W^ft -fHcHT UT Hl<ldl<l 
km ■$ k aiiri^di

(■q) -?$k qrsj th knv n<t wkt’ sfa

■qjcf e£T r^^ld uflkni

(^) PraiPRW fm kmi ‘fERHH T5H’ -SFt mr-?kft 
cFT fa^-dd UTlknri

(n) w^i qj- c£ kn*T T^af tj^t’ kr^R
W Id^-ddl •^tkni 4x10=40

(4x12=48)

3. fdHklfed mif 3Tko^ 3rR ^tkTR :

(U7) *uf$’ ^Ht U7t TJeT TTRFTT R femt UkkHI 

CW ‘wft’ wk k UfW R femft ^FtkRI
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(R) *3R^ w «7T’ Rft RTRT RR fWft

(R) ‘-^T TRT’ Rft RJRRRT RJt WR RTtfRRI

C?) «lkrl$w| rh f^t fSpsRT fwra-^R 3 WRI

(R) 3il-c||4 VpRT Rft Rfft RTRT-?Ht Rfft f«6Hl RR? 

RR fd’-Lluh fciftaHI

(^) wre TrfR R^nt <=11^41 Rfr Rft ^TW RR 

WRt

(RF) ^R RRT RR tRW RlfR^TRF R^T RR I^Ruft 

f^RfWRt 8x1=8

(8x2=16)
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